Algebra 2 Complex Number Unit Day 3

Netwre ! KA.L;

Duare: “! {‘F,l_' Ié

Warm Up~-Matching: Use VersaTiles. Check your answer with your teacher.
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Objective: How doyou add, subtract, multiply and divide complex numbers?

mistake that he made and show Joshua step by step how to get the correct answer.

Lesson Summary: Joshua told you that the answer (3+i) tois9. Explain to Joshua what common

Homework: HWS.3: Finish this worksheet. Show all work and complete the riddle.

Guided Practice: Simplify

A (2-3i)+(5-4)
A+5-30-¢

. =]

D. (4i-5)’
s Ui -5)(4-5)
: 16 -YoL 728
T e~ oL 429
B0 ori)
(3-i) (3'f¢.)
PR S A S
ETET

B. (8+2i)4-3i) i
32-a4) +80 - 6L
22 —&L + 6

= 33 -16¢]

E. Solve: x* +20 = -80

uwon

C. Multiply =2 -3/ by its congugate
(=2-30(-243;.)

L LE'F‘?:

F.Solve: 4x* +20=-80

5+5( -

’ILZ_ = 209

yl = ~—loo Yy® = —100
x ¥
X“= - 25
r"_'. _ -[- —
X* ==~~loo {x* = t a5
= +j6q
2=l X= ¥ 5¢
J.V=5-V=20 K. Multiply (v/S — 5i) by its congugate
s, LE'&'ZE = (V5 - 5{ ) (N5 450 )

=8 — 255 = S+23 -—-!30?
= f—-m{
| =~ - , - Ilf‘—_
M, 2 - (2HL) N -l = 2P ?“‘f'q[;
2-i  (241) J=9 3
= d{240) = yl24i)
L -t Y
or | 5+4c



-

Homework: o M&A"L—;Wf
o) W8 Lems drof
1) (V3 + 2i)(v/3 - 2i) 2) (4—-7i)+(2+30) NER-4)—-(2-1)
5 —ui” = 3v4 =[] S4e2 —C 43 2-2 -4 +i

=@ :{—-3:!

4) 6—(8+4i 5) (5 — 6i) — 4i 6) ——nr T = T
) s 0s 0 JRRL i EE
-8 — 4y = [ 5—10¢
7] ST - 201 <[T]

7) (4 — 20)? ) Ye o5 9) (v=3)° = {-3 3

o2 -2i) e M (Lt )

e ~Fi - For e = M¢ds 'E]

P v
= !IZ-I(aCl s

10) (v=3)° 11) V3-V=27 12) (—2V=B)(3V=2)

155 5 3 =3 - {139 —2 A"z BN 2
aﬁ@ R AR =2 - 2043 3iV2
- :‘fziz'z zizqi .
13)= = C St = PREALARINCLLD 15) Solve for x: .w‘+9 0
21 20% 3~i (3+0) = - 9
2
b = GHbiar = FHe = 4430 x‘= 3
— q-i* 1o g Xz *43
= {3
16) Multiply 3 -3/ by its conjugate 17) Find the additive inverse of 5—10i ?
\3 - 3L)(3+3L. - 9 -9.° _.f: 5.;.;(5':;]
- 9+9 1% E

Tlelolvie mlalrldlemlalr[z]cls] /]
%6 9 8 6 4 1 7 3 2 15 S5 10 12 11 14 13 17

Answer Bank

0 P -1 F =3iJ3 A 5. 2+4i W

1 X 3 L ufi g 52 29-2i U

3 H -4 = 5 5-10i M

4V 27 Y 9%3 R ->i S 5410/ !

> @ i & % 1 N 12-16i A

7 M —i # 10/ D 45 3

9 W ST _10i K 3 9+iJ3 %

12 Q +3 B 18 G 6-4i H 43 ¢

L 3 -2-4i E 5

24 T -3 T 2



Simplify.
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